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LET’S CHECK
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LET’S CHECK



PROBLEM
• Identify categorical vs. continuous
variables
• Hypothesis 
• T-Tests
• Interpret SPSS output for a t-test
• Dichotomous categorical vs.
Polytomous Categorical Variables
• ANOVA Tests
• Interpret ANOVA output.



TYPES OF DATA

Categories Ordered/
Ranked

Whole
Numbers

Decimals



ONE SAMPLE T-TEST

Tip: download the recoded
data set



ONE SAMPLE T-TEST
To test the hypothesis “On average, our customers’
purchase intention is relatively high”

SPSS Guide: 

Analyze > Compare Means > One Sample T-Test

 Select Variable (Q6 Recoded)

 Set Test Value to 3

 Interpret Results



ONE SAMPLE T-TEST

P-Value = Sig (2-Tailed)

Remember from 
STAT193/QUAN102

P < 0.05 = hypothesis is supported
P > 0.05 = hypothesis is rejected



INDEPENDENT SAMPLES T-TEST
To test differences between two groups in one category 

H1: “On average, males will have greater purchase intention
compared to females”

SPSS Guide: 
Analyze > Compare Means > Independent Samples T-Test
Select Variable (Q6 Recoded)
Select Grouping Variable (Q14 as it asks for male/female) 
Define Groups 1 and 2
Interpret Results



INDEPENDENT SAMPLES T-TEST

P < 0.05 = hypothesis is supported
P > 0.05 = hypothesis is rejected

The hypothesis is?



To compare the means of two variables for a single group
 (uses two different questions to do a comparison)

H1: “Consumers purchase intention will not be significantly
different from their purchase intention if the price was 5%
higher”

Continue using Q6 Recoded, will also need Q9A

PAIRED SAMPLES T-TEST

Tip: download the recoded data set



SPSS Guide: 

Analyze > Compare Means > Paired Samples T-Test

 Select Variable (Q6 Recoded) as Variable 1

 Select Variable (Q9A Recoded) as Variable 2

 Click OK

 Interpret Results

PAIRED SAMPLES T-TEST



P < 0.05 = hypothesis is supported

P > 0.05 = hypothesis is rejected

Hypothesis is?

PAIRED SAMPLES T-TEST



P < 0.05 = also means that there IS a significant difference
P > 0.05 = also means that there IS NOT a significant
difference

Be careful how you phrase your hypothesis

The hypothesis is NOT supported this time. Why?

H1 = “Consumers purchase intention will not be significantly
different from their purchase intention if the price was 5%
higher”

PAIRED SAMPLES T-TEST



WHEN TO USE THE
DIFFERENT T-TESTS

Paired samples t-test = test difference in two continuous
variables for one group. The means of two variables are
compared that apply to everyone in the sample

One sample t-test = tests whether the sample mean is
significantly different from a specified value

Independent samples t-test = test a difference in one
continuous variable for two separate groups



DICHOTOMOUS VS.
POLYTOMOUS GROUPING

VARIABLES

Dichotomous = Two values
Polytomous = More than two values

Remember sometimes you can recode a variable from
polytomous to dichotomous. 

Sometimes you can’t so you need to perform an ANOVA
Test



ANOVA TESTS
Use ANOVA when independent variable is categorical (3 or more
levels eg Q11) and the dependent variable is continuous.

ANOVA is used to measure the effect a categorical variable has
on a continuous variable

SPSS Guide: 
Analyze > Compare Means > One-Way ANOVA
Select Variable (Q6 Recoded) place in Dependent List 
Select Variable (Q11) place in Factor
Click Options > Check Descriptive and Mean Plots > OK
Interpret Results



ANOVA TESTS

What can you conclude from the P-Value? 
Purchase intention is NOT significantly different across
education levels 


